(w\ %%%I%jc -

FEBZEEZDERH

&8

(AERI¥XF HESIFXEK
& PRIV aVEIA T4 RE)

e-mail: hayashi.atsuhiro@nitech.ac.jp "(”’"1

1. [FLC &I

uAXAF Y24 « LiR— k(Scoring Report)
uFEZE (Learning Diagnosis)
uRBET TR, 2BEHEZREITRY

u Rule Space Method
uDEFEDVED | RREZFEEELIC
uREERIHESRAE N T X b
ufBr
uEER. ERHI

uFrREDHESERDER

AAF7Y - LiR—k
2 & #Z W (Learning Diagnosis)
uRBIZT T RERHEZREIORT
uwiEE, TAJATEEINTLNS
SHBRALAE
%ﬁ&b?%ﬂlﬁo)ﬁ
REEHTOIER
1 “RO—F",“BLEIR” &RT
uEFENRINEAFTES
uilER 165 <) Y. ;EIR

—) SYUEDHENVEE

2. Rule Space Method
1 BN O ERERET I, 58
| FEFEORBFISHRELE-FE
| [BE]RLER # AICFBEE
n K.Tatsuoka(1980’s)
1 VSRR FiER CORETHESR
nfRENI—UNLEEEEICEONT
n 288 F % Knowledge State (KS) [Z548
1 Knowledge State (KS)
nFEEE. BH- RXEGET

U RATITAVIIZ VAN
3 n BREELANENE
Table 1 Student 1 : When denominators are different,
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Student 3 : Wrong reducing method of an improper fraction.
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Only if “quotient = remainder”
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An example of Incidence Matrix
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Figure 1 : A free representation of Knowledge States for the SR-Test data
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